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Analytical Reasoning Questions Overview

Analytical Reasoning Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Analytical Reasoning Questions.

Analytical Reasoning Questions

Directions: In each question below, a statement followed by two courses of action numbered | and II, on the basis of the
information given in the statement you have to assume everything in the statement to be true, then decide which of the
suggested courses of action logically follow for pursuing.

Question

Statement: A survey was held in a few jails and according to the result of that survey the Jail X inmates are extremely
dangerous individuals. The survey result was extremely different from the thought of the organization. Course of Action: (i)
Increasing the number of security guards stationed at the jail should be applied. (ii) It is necessary to transfer some
prisoners to another jail.

Difficulty : Moderate Average Time: 58 Seconds

Options :
1. Only I follows

2. Only Il follows
3. Both follow
4. Neither I nor Il follows

5. Either I nor Il follows

Solution

The correct answer is Option 1 i.e. Only | follows
Courses of Action:

(i) Increasing the number of security guards stationed at the jail should be applied.
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(ii) It is necessary to transfer some prisoners to another jail.

Explanation: Only the first course of action is appropriate since, according to a statement, the prisoners are extremely
dangerous individuals. As a result, it is preferable to send out extra guards to guard against potential mishaps. Shifting is
not a problem-solving strategy.

Hence, the correct answer is Only | follows.
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